BREETRFOMSEREER CGEHREXLZDXFHENSDNDA) 1/3
RERE  FR28FE1181H (N) ~FR285F 118308 (k) (BT = A\ 9LIb/kg)
=1 — = o ®RER . BHERERE]| | . EHERRE
== | »7du = ERERIts 1/8) | B34 | aymin3a) | BIRI3T | (homnn37)
iEES iy ELmEAILETAEH] 100HCK)| A& 7.5 | A&H 6.3
IEEES iy B LmEALETNLA]| 17THCR) | A& 4.9 | AEH 4.2
e EGES ARF+ BT HMET E1TE | 30HOK) [ A& 7.5 | A %&H 6.1
EES ARF+ EBLLI 7 = FHET LH ()] A gHE 5.3 | A& 4.7
N EES ARF+ BUmEALETdL MR | 4H(&)| A&EH 3.9 [ A%&H 3.2
6 |[FFE HIYVALE 8L EHET 28H(B)| A& 4.4 | AEH 3.3
[ EES YY1 E ELmEXALEAUNR]| 4H(R)| AMEE 5.6 [ A%&H 4.8
EES YYYTE EBLUmEALLETRARHE| 14B(B)| A&H 4.9 | A&EH 4.2
CIEES HhAE g EIE 14H(B)|] A &HE 10.9 | ~&HE 10.3
NNEES Yh1E 81 LIt PR BT AH TH(B)| A& 5.8 [ A%&H 4.9
(NEES Yh1E EB LI PR BT A4 2H0OK) [ A& 5.8 [ A%&H 5.0
12 |B Yh1E EB 1L Pa EH BT A7 18H(&)| A& 10.0 | A~&H 9.4
(EEES Yh1E LS AILETAEH]| 8H(N)| A& 10.7 | ~&H 9.5
(EES v A1 E ELHPHITAER] 4H(E)] R~&E 8.6 | A& 7.4
(FEES v A1 E EBLLI 7 AR LLIET 4H ()] AgHE 10.7 | ~1&HE 9.0
IFEES I AT 81 LIt PR BT AH TH(B)| A& 8.5 | A&H 9.1
EES v A1 E EBLL 7 PR R BT A4 2HOK)] AigHE 5.9 | A& 5.7
18 |82 I AT ELmEAILETdL MR ]| 18H ()| A1&H 6.5 | A&EH 5.4
EEES TOUHHS Y X | REm 15H(CN) | A i&HE 5.6 | A& A
20 [Hx i LT ZEBHRE [17THCR)] A i&E 13.6 | & 11.2
21 |BE 43 L ZiEH] 29H(N)| AEH 1.3 | ~%&H 9.2
22 |BE 43 A== 2HCN)| AEE 4.4 | AEE 3.8
23 |BE 43 B LU AR LLIET 4H ()| A& 1.7 | A&H 6.0
AEES EEE=P] ELHAHITAE [21H(B)] A&HE 6.8 | ~&H 5.7
25 B =V 8L HANERET TH(B)| A&t 7.2 | A&H 6.3
IEES =V ELMmEXLBARA]| THB)| A&EH 6.0 | A1&EH 5.3
I ES R BLUHEALE/\LA] 7THB)] A &HEH 6.3 | ~&H 5.2
28 |Hx EEE=P] BB T ZEARET 14H(B)] A~ &HE 7.7 | ~%&H 6.6
29 [Hx EEE=P] HA™ 26H (R)[ A& 5.2 | A %&H 4.6
30 [F=x FAAE SRERR R 5H(E)] AigHE 8.3 | A~%&H 6.8
I EES +ThH1E LT #TES 2H0OK) | A& 9.1 | A1%&H 7.5
Y ESES FAAE LR 18H (&) A &L 10.1 | ~&HE 9.1
33 |F=x FAAE K= 16H0K)| A i&HE 9.7 | A%&H 9.1
P ESES EXF ST ZHE ] 8HCN)| A& 11.9 | & 9.8
I ESES EXF ST ZHE ] 28H(A)| A& 1.1 | ~&E 9.4
I EES EXF LU/ \LLH 16H0K)| A i&HE 7.6 | A~&H 6.3
37 |F=x —IYv BT ZEIRE [17THOR) | A&Ed 11.2 | ~&HE 9.0
LI EES —IYv EBLLI T 5 A0 HE] TH(B)| A &E 8.2 | A~%&H 6.8
I EES —IYv LT HIEBIAE [ 17THCR) [ A &E 6.3 | A~&H 5.4
40 [Hx NTTA ST ZHE ] 28H(A)| A& 7.8 | A~%&H 7.5
INIEES NTTA ST ZHE ] 295 (K[ A& 11.3 | A~ &E 8.8
IVREES NTTA ESLUTHMNBT L1778 [ 30H0K) [ A& 9.7 | A%&H 7.7
43 |Hx NTTA ELLHAREITAH |[21H(B)|[ A& 8.2 | A& 7.0
AEES NTTA BRI [ 18H ()| A&E 9.6 | A& 8.0
N EES NOYA EUHmEALBIALA] TH(B)| A&EH 6.2 | A& 5.6
46 [Hx NTTA HA™ 26H(K)[ A& 6.7 | ~&H 6.0
NIREES -3y LT HMANSE | 8HCN)|[ A&HE 6.9 | ~&H 5.7
48 |Hx -y B LLhixs 2B (N)| AM&EH 5.5 | f~&H 5.0
49 |k GiEk. BEkE) [EIK BLmEXILETE/IR]| 15HCN)| A& 3.1 | A%&H 2.7
50 [IE:-FOZHE[FUZF B L= A HH] 28H(B)| A& 11.9 | ~&E 11.8
I NERE A CPER: EZAM 15HCN) [ R~ &HE 11.8 | A~ &HE 1.4
NERE A CPER: HA™ 1MH(&)] ~&E 9.1 24.0 8.2
ENEREREACPER: SRR K] 2B0K)] A gHE 6.4 25.9 7.8
NEREACPER: SRR m O] 4H ()] ~gHE 9.4 45.2 6.7
S NERE A CPER: SRR m O] 14H(B)] A~ &HE 12.1 28.4 10.5
56 [z =DZFE|[2957 HAN A =ZH] THA)| 173.2 7.7 985.5 7.6
57 [ - =EDZE[V157 SRS 26H (KR)| A& 12.0 | ~&E 10.2
58 [z =D ([>OIXD I ) SHON)| A1&H 9.8 | A~%&H 10.2
59 [E-FnZFE([>OIXD LT HEER TH(B)|] A& 7.7 42.9 5.4
60 [ EDOH [Fv 7 XYL T [HRMEBEAHE 8H (N) 33.5 7.8 184.2 5.8
61 [IlE - =D [F X3 BRI EEEH] 3H(R)| A& 9.8 | A~%&H 10.4
62 [l - =D [F X3 HLUTAHITSE [17THCR)|] R~&HE 9.7 | A~%&HE 9.2
63 (32 =D [F X3 (&) ELHEER R [ 25H(R)] A&E 13.8 44.3 10.7
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(BT = A" 9L /kg)

=1 - = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1g) | toh134 (by9h134) 994137 (b994137)
6 |- =DCH (7557 B8R FE e O] 4H (&) 10.8 7.9 62.9 5.8
FNERERR 1= E ] 3H(R)] A igH 9.4 | A %&H 10.3
66 [IZE:-=DCHE|ESHYT B8 ER IR IR LH ()] A gHE 6.9 | ~&H 7.0
67 |- =DH|L*5T ESmERE | T LH ()] A gHE 9.2 | &~%H 8.5
68 |- =DCH|L*5T SRR m T 5H(E)] AigHE 7.4 244 7.8
69 |- =DH|L*5T SRR | T 14H(B)|] A &HE 6.1 | A~ &H 6.6
70 (UFE -F0OZH|LF5T B8 ERICIB IR THON)] R~igHE 9.7 17.8 12.7
71 |[IE - T |LSTFI XY [ERRMEBEEAE 14H(B)|] A &HE 10.9 448 9.6
72 |IE - FOZFE | PYRUESTY [BRLHEEBI A TH(B)| A&HE 9.0 | A& 10.6
73 [AN% 173 WhEm/NZEE |[28HB)] fad 4.h | A& 4.7
74 [BNE 173 WhEm/NZ2EE |[28HB)] fad 3.8 | ~M&EH 3.2
75 [AmNiE H X WhEm/NZEE |[28HB)] ~ad 4.2 | A& 3.7
76 [R=E AES B LIThZ 150 TH(B)| A&HE 9.3 | A %&H 7.6
[AEES AES B LIThZ 150 10H(KR)| A~ i&H 7.3 | A%&H 5.7
78 [B=E AES B LTh %150 10H(KR)| A~ i&H 7.3 | A%&H 5.8
79 [B=E AES B LThZ 150 10H(R)| R~ i&H 7.6 | A&H 5.9
80 [R= AES B LIThZ 150 14H(B)| A &HE 8.2 | A& 6.2
81 [B=E AES B LIThZ 150 29H (K[ A& 13.2 | A%E 10.6
82 [B=E AES B LIThZ 150 14H(B)| A &HE 6.7 | A&H 6.5
83 [B= hF L ZIER] 5 30HOK)| A~ &H 11.0 | ~1&E 9.3
84 |R=E hF LB 4tH(®)| N &d 10.8 | A%E 11.2
85 [R=E hF LT ESH 5H(E)] AigHE 6.9 | ~&H 5.8
86 [R=E hF BT EE 5H(X)| ~&d 8.6 | A& 7.1
87 [B=E hF Bt/ & 14H(B)] A &HE 4.2 | A &H A
88 [RB=E hF BLmh/ & 17TH(R)| A &HE 5.0 | A~ %&H 4.3
89 [RB=E hF BB LT AT 4H ()] A~ gHE 5.8 | A& 5.7
90 [RB=E hF BB LT AHRET 13H(H)|] A~ &E 3.6 | A& 3.1
91 [RB=E hF e 5] 26H (R)[ A& 8.3 | A%&H 6.6
9?2 [B=E hF EIGESE! 2HOK)] A igHE 3.7 | A %&H 3.1
93 [RB=E hF ESLLhEEEIE 14H(B)] A~ &HE 9.0 | ~%&H 7.3
94 [R=E hF R IhEe 218 2HOK)] A igHE 3.9 | A& 3.3
95 [R=E hF 8L Lmh = FHET 4tH(®)| N &d 5.3 | A& A
9% [R=E hF 8L mh = FHET 22BN A& 6.1 | ~&H 5.3
97 [RB=E hF 31 LITh S FHET 260 ()] ~%HE 10.0 | ~&HE 9.7
98 [R=E hF LA 14H(B)] A &HE 3.7 | A& 3.9
99 [R=E hF EBLLI T AR LLIAT 2HOK)| A~ &H 10.9 | ~&HE 8.9
100 [E=E hF BT FAEBIRER | 2HOK)| AMEH 5.8 | A& 4.8
PIEES hF ELHAHIT =81 | 8H(N)] R&HEH 5.5 | A& 5.6
IPEES hF LU FAHET=BTE [16B0K)| AR 7.7 | A~%&H 7.0
103 [EB= hF EBILUHAHSE [16B0K)] AMEH 13.2 | *%E 11.2
TAEES hF BLHHE 12H(X)| ~&H 5.1 | A %&H 4.5
105 [E= hF BLHAE 12H(X)| ~&H 5.5 | A& 4.8
106 [ER=E hF EBLLTIFER TH(B)| A &E 8.8 19.0 6.9
107 [&B=E hF EBLLTIZER 8HON)| A& 6.2 | ~&H 5.4
108 [E=E hF ESLLTER 8HON)| A &H 5.5 | A& 4.7
109 [E=E hF ELLTER 28H(B)| A& 3.8 | A~ %&HE 4.0
110 |R=E RS EUHmEALBAEH]| 2HOK)| AEH 9.8 | A1&EH 9.0
111 |RE RS BUHmEALAEH]| 4H(®)| AMEH 5.1 | A~%H [
112 |R=E RS BUHmEALAEH]| 4H(®)| AMEH 4.7 | AEH 4.3
113 [B=E hF EBLUREXLBIRE| 2HOK) | FA&E 8.1 | A~%&H 7.4
114 [BE hF MUB=EALETRER [ 215(B)] R~ &E 6.4 | A~&HE 5.4
115 [EB=E hF MUT=EAILBETRER [ 298 (N[ R~ &E 6.4 | A~&HE 5.5
116 [B=E hF 8L/ \LLH 16H0OK)| A &HE 8.0 | ~&&H 6.7
17 [BE hF a8)lm 2B0K)] A &HE 7.8 | A~%&H 7.1
118 [E=E hF HAN A =ZH] HEIE RS ES 7.3 | A~&HE 7.3
119 [EB=E hF HAN A =ZH] 16HOK)| R~ &H 3.8 | A~ %&H 3.1
120 [EE=E hF BE™ 10H(R)| Ri&H 7.6 | A~&HE 6.0
121 [B=E hF BE™ 13H(H)| A&H 7.8 | A~%&HE 7.8
122 [B=E hF A= 2Q1H(B)| A& 6.6 | ~&HE 5.3
123 [B=E AR LI = HET 4tH(&)| AEH 5.5 | A~ %&H 4.6
(PEES huYv BLUHEE 2Q1H(B)| A& 8.0 | ~%&H 8.1
125 [&B=E huYv BUHAAHITESSE [16B0K]| R&@E 12.3 | A~ &E 10.8
126 [ER=E AU BLUAEMEINATE| 15BN RNE&H 7.6 | A~%&HE 7.0
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(BT = A" 9L /kg)

=1 — = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (1g) | toh134 (by9h134) 994137 (b994137)
127 |R=E AUy BLUmEAILETAEH| TH(B)| A&H 5.4 | A~&H 4.7
128 [&R= F4 8L Z A5 T 10H(KR)| R~ i&H 8.3 | A& 6.6
129 [&B= F4 8L Z A5 T 10H(KR)| A~ i&HE 7.5 | A %&H 6.0
130 [EB= F4 8L Z A5 T 14H(B)] A &HE 9.2 | A& 7.5
131 [R= F4 BUTZEENE/I [ 25H(2)] A&E 12.6 | ~&H 11.0
132 |BZE F4 BT o AT 29H (N[ A& H 8.0 | A& 6.4
133 [&E= Fo4 EBLL AR 22BN A& 7.0 | A& 5.7
134 [EB= Fo4 ELLUHEMNET LTS | 22HCN) [ A& 7.4 | A &H 6.0
135 [&= Fo4 BRI =0TH | 8HCN)|[ At&HE 5.9 | A& 6.0
136 [ER= Fo4 8L A0 ERET IH(K) | A& 4.4 | A &H 4.2
137 [R= Fo4 BLHBEFMEEATE| 15BN T &H 4.9 | A &H 4.2
138 [&E= Fo4 BT EXLBIREER | 28HOK) [ A& 4.2 | A& 3.8
139 [E= Fo4 BT EXLBIREER | 25H(E) [ A1&E 5.1 | A& 4.7
140 [ER= Fo4 BB T EEARET 22BN A& 6.1 | A~&H 5.3
IEES Fo4 BE™ 14H(B)|] A &HE 10.6 | ~&HE 8.4
142 |R=E =hY LT EH 17H(R)| A#&H 4.1 | A& 4.2
143 [&R= =hYV EIGEZE 1MH(&)| ~&E 4.0 | A &H 3.3
[MEES =hY BUHEXLEIRE [ 18H(2)] A &L 5.4 | A& 4.7
145 [&R= 1X BB LI ] 28] TH(B)| A&HE 5.2 | A& 4.5
146 [ERZ=E 1X BB LI ] A 2] TH(B)| A &E 5.3 | A %&H 4.7
147 B3 1X EIGESE! 18H (&) A &E 12.9 | ~1&HE 10.1
148 [ER= 11X 8L Lh = FHET 16H0OK)| A i&HE 7.0 | ~&H 5.9
149 [EB= 11X WEEBARERT 148 (B) 14.0 5.4 88.1 4.2
150 [E= >3 BB EERT K| IH(K) | AR 5.8 | A& 5.5
151 [&B= >3 ESLLhEEEIE 4tH(®)| N &d 7.8 | A~%&H 7.9
152 |R= = BE™ 13H(H)] A~ &E 10.1 | ~1&E 8.8
153 [Zofk LiEVEE] B LT FAEBTAFHE [ 258 ()] A~MEH 7.0 | ~&H 7.3
154 [ZDfb SAEYE=] ELmEXALBINAWLBE| 158N AMEH 5.3 | A& 4.5
155 [Zfb =] BLmEXALBINALBE|[177THR)|] AMEH 7.0 | A& 6.0
156 |[Zftb g =G 8HCN)| A& 8.1 | ~#&H 7.0
157 [Zofk g A= 15H(CN) [ A i&HE 5.6 | A& 4.5
158 [Zofib bR BLUHEREISIA [ 278(B)] ~@E 5.1 15.7 5.5
159 [Zofib hF (R) HANE =ZH] 1MH(&)] A~ &E 6.0 | ~&H 5.3
160 |ZDfib AF (BENE)  [BRLUTHRIR 21H(B)| A& 5.5 | A& 4.7
161 |Z0Dfik XY (EY) [#UT 10H (K) 47.3 7.9 227.8 7.5
162 |ZDfik NFZY 8L THON)] A~ gHE 6.4 | A&H 5.5
163 [Z0f T B hZ 150 14.H(B)| ~&H 12.4 | ~1&HE 9.9
164 |[ZDftb T LmZEBITHELL [ 158N R~ &E 12.0 | F%E 10.1
165 [Z0ftb T BB LT RERL 22BN A& 5.8 9.5 5.3
166 |Zftb T 1L = HET TH(B)| A &E 7.0 | A~%&H 7.1
167 |[Z0Dfib T BLUTHAHITAN |[258(&)] f&@E 7.5 | A~&H 6.2
168 [ZDfib T BLUAEALENLA] 4B (&) ~EE 6.6 | ~&H 6.1
169 [Z0fb T BB LI #xET 21H(B)| A& 6.8 | ~&H 5.7
170 [Zofk T 85T 295 (K[ A& 9.5 | A& 8.4
171 |[Z0fb T WNEEEBAFERT 295 (N[ A& 7.9 141 7.0
172 [Z0fib T (BEDE) [KFE THA)| ~&H 6.2 | ~&H 6.7
173 [ZDfib T (BEDE) [KFE THA)| ~&H 4.4 | A &HE 4.8
174 [Z0fb T (BEDE) [KFE TH(B)| A~ &HE 4.2 15.7 4.0
175 [Z0fib T (BEDE) [KFE 7H(H) 5.9 4.1 15.4 3.9
176 |[ZDfib T (BEDE) [KFE 7H(H) 5.1 3.9 12.7 3.8
177 [Z0fb LRI BE™ TH)| " &f 5.5 | A~ #&H 4.8
178 [ZDfib EILE ELHEXLBIER [ 10HCKR) [ A&H 8.9 | ~&&H 7.7
179 [Z0fib EILE A= 16H0OK)| A &HE 9.3 | A&H 8.9
180 [Zfib B+ LT FHIARER]| 4H(®)|] &L 7.7 | ~%&HE 6.3
181 |Z0fik = BLUAEALENALA] 15BN RNE@E 5.7 | A %&HE 4.6
182 [H28FEX K (%K) FHATER/\EF ] 4H ()] ~gHE 9.5 | A&H 7.7
183 [H28FEX K (%K) BE™ 2HOK)| A& 7.6 | A~&HE 6.0
184 [H28EFFEXR K (%K) LR 9H (k)| Ai&H 3.9 | A~ %&H 3.2
185 [H28EFEXR X (BX) ELHAHIAE [145B)] ~&E 4.7 A &HE 4.0
186 [H28FFEXR X (BX) HA ™ TH(A)| A~&H L1 A &HE 3.3
187 [H28FEXK X (BX) =R EERT 18H(&)| A1&H 8.5 | A~%&H 7.1
188 [H28F =K H5XK (BXK) BT AEEAN 2HOK)| A& 6.1 | ~%&H 5.0
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